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Section—A Child Development and Pedagogy (Bilingual Section, Q. No. 1 to 30)

FaT—A ¥ feam w3 o aRsT (w9t yas & : 1 - 30)

1. When a teacher is assessing students in classroom,
which of the following as on objective is avoided
considering it is an authentic test
(a) Give feedback to student about their performance
(b) Assess students habits and repertoires
(c) Minimize needless and demoralising comparison

among students
(d) Students individual aptitude, learning style should
not be considered

2. Whenever you are making a multiple choice question, '

wrong answer are offered as choices with the correct
answer. These wrong answers are know as
(a) Distractors (b) Stem
(¢) Portfolio (d) Rubrics
3. The basic idea of inquiry learning involves following
elements :
(@) Formulate hypotheses, collect conclusions, accept
reviews without reflection
(b) Collect data, collect conclusions, accept reviews
without reflection
(¢) Formulate hypotheses, draw conclusion, accept
reviews without reflection
(d) Formulate hypotheses, collect draw, draw conclusion,
reflect on original problem
4. This stage is the time of sexual reawakening, the source
of sexual pleasure now becomes someone outside the
family. The stage in Freud’s psychosexual theory is:
(a) Phallic (b) Anal
(c) Latency (d) Genital
5. The person rsponsible for the development and design of
the first useful individual test of intelligence is :
(@) Freud (b) Bruner
(c) Binet (d) Piaget
6. Special material, equipment and strategies that
specifically help students with low vision to function in
regular classroom include
(a) Large print typewriter
(b) Use of sign language
(¢) Finger spelling
(d) Use visual cues as often as possible
7. Which of the following is not directly associated with
policy for inclusion ?
(a) Salamanca Statement and Framework for Action (1994)
(b) Kyoto protocol
(¢) Biwako Millennium Framework targets on education
in the second Asian and Pacific Decade of Disabled
Persons (2003-2012).
(d) Dakar Framework for Action on Education for All
(2000)
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9. IN ceonrreceesrres CONCL g their behaviour
the enviroument, and stimuli that follow will occur again.
change the probabiliy that the behaviour will 0c¢
() Classical
(a) Operant : t
(¢) Retention (d) Punishmen ——
10. Which of the following are two major features of Fiage
formal operational stage of cognit!ve theory? ;
(@) Hypothetico deductive reasoning and Propositiona
thought . . .
(b) Spatial reasoning and Hypothetico deductive reasoning
(c) Seriation and Propositional thought
(d) Spatial reasoning and Propositional thought
11. Which of the following is not an example of ‘tactics for
learning verbal information’ ? )
(a) Attention focusing by making outlines, underlining
(b) Schema building by story grammars
(¢) Ildea elaboration by self questioning and imagery
(d) Pattern learning by hypothesizing
is generally not associated with
constructivism.
(a) Vygotsky’s theory (b) Classicial conditioning
(¢) Equilibration (d) Self awareness
13. The ability to think about language as a system is
(a) Referential communication
() Speech register (¢) Bilingualism
(d) Metaliguistic awareness
14. Mastery oriented students tend to value achievement and
see ability as improvable, so they focus on
(a) Expectations of others and have no goals
(b) Mastery goals in order to increase their skills and
abilities
(c) Their back of ability and consider it as source of failure
(d) Mastery goals in order to avoid failure
15. While assessing crativity of an individual, according to
Torrance, “On a graphic test (used to assess creativity
among individual), an individual might be given 30 semi
circles and asked to create 30 different drawings. In
another task one may be asked to make a toy more fun
to play with.” Responses to all these tasks would be
scored for three aspects of divergent thinking, which
are
(@) Originality, fluency and flexibility
(b) Originality, flexibility and diversity
@©) Fl.uency, Diversity and concentration
(@ Diversity, flexibility and concentration
According to Vygotsky’s theory, the process whereby
two participant w'rho begin a task with different
:::wc::nding arrive at a shared understanding is
(@) Intfnubjoct.iv‘ity (6) Scaffolding
(¢) Guided participation (d) Reciprocal participation

16.

Sept. 2016 (Paper—

10.

11.

12.

13.

14.

15.

16.

—

gcience (18)
1 Socts smm“’sf:;'g? EHAS, MU U Y ¥ oy,

% i Q2w R Y |

() BEEUS (Resiliance)

(b) ataféar (Conditionn;g)

ywfenr fent fl
9 FEgII& T f%'g':' (gmtrol deficiency)
@3 e, 6 82 YO e IR 578 Ty oy

0, aeveremeneerens ’qmaﬁ"@ﬁ& Tom

qﬁ;ﬁaﬁawmwtmﬁﬂ&fa’?ﬂ#?w
=a3G feg 3 gEaT 39T .
(a) ngaa?rfaﬁwm gg Waﬁ'ﬁ'am““’“faa
O e e o @ e & e @ B3 & v
wERs & SHITRYSs g T
(a)maﬁaémﬁgm_wmm@
(b)mmfagﬁar,aveﬁuﬁfza'sﬁafzzfmﬁm
ftens W3 Junines feuTe
fff),mmfanﬁmmamrfﬁmf‘ﬂ‘?

O ont 5 farga ey Al ke v ahar sty |

(a) TTdt ®fEE (Outlines), & (underlining) T
~of |

(b) fenrrage 3 TTTet gmTaT GraT 95TEST
(¢) Ut IBUET a3 fegrat ev fensg 5
(d) BB /(€) & ufdasuaT 575 g (Pattem) fiveT

................. feg ArgrgeE 39 3 JES=W (constructivism)

&% Rifag sdt & |

(a) TEGISAGT T fHUTT (b) Udufad »<rEr
(GLEL (d) AR-AaIfaat
T ¥ Aue Stawshhg eryig ¥ ?

(a) F&faT fI=™E (Referential communication)

(b) I ¥rftaa (Speech register)

(¢) @-3Ht (Bilingualism)

(d) 9g-3Ht ArAfaSt (Metaliguistic awareness)
HISS YU fefenrasint 58t fga Quatdt I vz ot Gars
& feam ¥4 raeT I fen 51 Qu fows Aefag ags
(a) STBt 3 Qrite gt o aet @9w mat

&)=Y YaeI T Q¥ mruE gt I Gargret 55 |
uger

(c) Ut IR S it § g S s im e

(@) WI33 G0 =% TuR Sfentt wrewar § mug-riew

I & WEHS 7w Forkt e ot st g gt ,
"WE ¥ AR e (GHF Z MART TR emt wiid

m@mﬂ@mép‘sonﬁaﬁf@ﬁéﬁhsoe‘&i .

9T 5 133 g3 e RO 27 T 2w g
mwawwamln .

(a) »HEMI, 32379 I Bsteys

(b) A, BEteTUE I Sgngs

(5] @,mém

(d) R4TUE, BEtEUS I feqraggr

SR <A ' 2 e, i Fafnr e & o 42

o
|
é;
¢
b
%
¥
¢

7




e T em———
o PSTET Previous Paper Sept. 2016 (Paper - Il) Social Studies / Soclal Science (19)

-~ 17. According to Lawrance Kohlberg, children cannot
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maintain the constancy of their gender. They attain this
understanding only gradually, moving through the
following stages :

(a) Gender struggle, Gender stability, Gender consistency
(b) Gender labelling, Gender struggle, Gender stability
(¢) Gender labelling, Gender stability, Gender consistency
(d) Gender labelling, Gender struggle, Gender stability

There are two basic types of intermittent reinforcement

schedules. They are

(a) Continuous schedule and interval schedule

(b) Interval schedule and ratio schedule

(¢) Interval schedule and slot schedule

(d) Slot schedule and continuous schedule

Personal factors, the physical and social environment

and behaviour, all influence and are influenced by each

other. Bandura calls this interaction of forces as

(a) Modelling (b) Strengthening inhibitions

(¢) Reciprocal determinism

(d) Ripple effect

A teacher wants to know about the level of

accomplishment attained in her subject after the

completion of the session/term. She takes a test to

complete this objective. The type of assessment she is

doing is typically

(a) Formative assessment

(b) Textbook assessment

() Summative assessment

(d) Objective assessment

“A very pleasant student who seems to work hard and

creates little problem may be given the benefit of doubt

(higher grade than deserved), whereas a very troubling

student who creates trouble in class may be given a lower

grade.” This is an example of

(@) Expectancy theory (b) Mnemonic

(¢) Teacher’s conditioning

(d) Halo effect

According to Kohlberg’s theory of moral reasoning,

which of the following is correctly matched ?

(@) Pre-conventional moral reasoning — good boy-nice
girl orientation '

() Conventional moral reasoning — law and order
orientation

(c) Pre-conventional moral reasoning — social contract
orientation

(d) Post-conventional moral reasoning — punishment —
obedience orientation

Which of the follow the following strategies you should

associate with culturally relevant teaching ?

(a) Do not use activities and projects

(b) Keep standardized criterion for students behaviour
during discussion/assessment/interactions

(c) Experiment with different grouping arrangement to
encourage social harmony and cooperation

(d) Community participation should be avoided
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(a) Who are persistent, wi
ideas
(5) Who are persistent, Wi
ish“:m istent, with low motivation, creative
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25, According to National Curriculum Fl:afnework po_.c:;c:n
plperoneduaﬁonofspednlneeds,follomngcanbedl ly
associated with benefits of inclusion for students :
(@) Spending the school day alongside classmates YV'hO
do not have disabilities provides many oppo'rtumtn‘as
for social interaction that woul not be available in

segregated settings. )
(b) Children with SEN would not have appropriate models

of behaviour.

(¢) Children without SEN would find it difficult to learn
about tolerance, individual difference, and human
exceptionality by interacting with those with SEN:

(d) Inclusion offers limited opportunity to interact with
each other. ,

26. In one of the studies designed by Eleanor Gibson and

th low motivation, with usual

ith high motivation, with usual

Richard Walk (1960) they designed visual cliff for .

children. It showed that babies are able to judge distance
of objects from one another and from themselves. This
ability which helped them for understanding the layout
of environment and for guiding motor activity is termed
as
(a) Distance perception (b) Visual acuity
(¢) Depth perception (d) Visual discrimination

27. A pre-school child after seeing a zebra at the zoo, calls
out “Horse!”. Which of the following processes he is

using ?
(a) Accommodation (&) Assimilation
(c) Organization (d) Seriation

28. Children acquire selective, adaptable attention with the
help of gains in two components of executive function
which are -

(@) Acquisition and inhibition strategies
(b) Planning and acquisition strategies
(c) Inhibition and attention strategies
() Planning and assimilation strategies

29. Ifa c!!ild is able to draw, conclusions by applying rules
or'pr!nciples; logically moving from a general rule or
principle tq a specific solution, we would say that
(@) The child is able to apply deductive reasonin
gb)) "]I_‘hhe c:i:g is using assimilation &

c e child is able to i i i
, @h_'f::e child is sing a:?:lilgyi elgductlve reasoning
2 ich of ing i
developun et:: ?followmg is not Kohlberg’s stages of moral
(@) Preconventio i
(b) Postmnventi::;lmxﬁ?rzlri:sonm'g
(c) Conventional moral reaso, O
ning
(d) Neoconventional reasoning
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nETT wfenrt § migr Qe Jet gt faw RS " Agar
N a2 T () few 5 femya &t fiass 3 Rt & g Jatd
(a) Fed feg ot-at feger & ? (o) fen fEg des mass feg vee fisat 3
G TEdfeasIa s BATTANITI? 59. ,mammmwaﬁaammg#m |
(c) Ta Tt Smt § fag st wer grdter ¢ Gt B0t & meret e yliar a9E wover Y | aHle § at A :
() T39I A ot fAvs § fuser § 2 ] gterd ? . i
51. %mewém%wﬁhaﬁmﬁ (a)mﬂﬁga%fagnﬁgmwarmhq __
Srudse R T ? atgr . ;
(a) Yrrelt I € F3-43 forragea 39T § ()87 99 § Q= HERt ¥ M nigw TS Huw U |
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3 (d) fewavk—orgué‘g‘crwa'

English Language (Q. No. 61 to 90)
Passage 1 : Please read the

passage carefully and answer
the questions 61 to 67

A Streetcar Named Desire is 3
Tennessee William’s landmark

throughout the play, though internally she is miserable and
] - haunted by her tragic and scandalous past. Stanley forces
classic of the American theatre.  Blanche to face her dolorous reality with his vitriol and, finally.
v;glrk u(rjas a tour de force in its  his act of sexual aggression, and in doing so, he causes her 10
i : and continues to resonate  |ose her tenuous grip on ity. argued tly)
with ’aud’lencgs _and readers today despite — or perhaps because  that the play is at;scr)lﬂ thesaw:ynz ﬂ?:ostmhat:unts W(C:"s:nct z’
of - its slmpllst_nc thOlfgh layered story. A faded Southern belle, (again correctly) that it is about the 1 andpse’“’“ity
Blanche DuBois, arrives at her sister’s seedy New Orleans  impact our lives, However, few have semc lay for what it is*
apartment where she is tortured by her brutish brother-in-law, an allegory for the theatre ;tself Before Willi imd Streetcar:
Stanley Kowalski, Blanche puts or airs of class and happiness ‘ e hbriet

the theatre had been dominated by melodrama. A brief interlud¢
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. +he 1930s brought political theatre to centre stage
;:etl:)u“)’ but by the 1940s, its principal Playwrigtﬁ, 8?;-:::
had left New York for Hollywood, and the sensationalized
ond maudlin form of melodrama once again flourished. The
theatre was in limbo, and Williams h_ad a desire to bring
comething new to the world. It would bring the realism of the
jitical theatre of" the 1930s but without the political (read :
cocialist) underpinnings. To that end, he created lifelike
characters who spoke in realistic dialect. But to make his point
hat melodrama was flawed, he added an equally unrealistic
character. Blanche, unlike tl)e other characters, speaks
theatrically, &cts larger than Ilf§ on stage, anfi uses floral
anguage and henghtengd mannerisms. !Blanche is a character
not to be trusted. She lies about everything, and the only thing
that finally exposes her lies is reality itself : Stanley. He finally
forces her off the stage and into the insane asylum by forcing
himself on hfz_:r0 sex}l:all);gAend with that, realism forcibly removed
odrama from the s! 3
m'd]t is not possible to imagine A Streetcar Named Desire
without the influrnce of Marlo_n Bando, the actor who rose to
fame playing Stanley.Kowalskl. On the page, the part is fairly
simplistic. Stanley is a monster and a beast without any
redeeming qualities. But Brando and the play’s original director,
Elia Kazan, imagined the characters as having a soft underbelly,
rooted in his own sorrow, insecurities, and soulful complexity.
Brnado’s Stanley is a brute, yes, but he is a brute who hates
the fact that he is so awful. He is also unable to control himself
and his passions, and this lack of control is equally embarrassing
to him, even as it is also threatening to Blanche and alluring to
her sister Stella. For instance, after he hits Stella, he comes
back to her, famously begging for forgiveness by shouting
“Stella” outside their apartment. But in Brando’s depiction on
the stage and later on the screen, he is soaked from the rain
and looks completely desperate, as thought he needs Stella to
live. He looks and seems totally helpless and weak, the exact
opposite of the brute he appears later when he forces himself
onto Blanche. The play is excellent and memorable, even when
read. But it is Brando’s interpretation of the male lead role that
makes the play indelible. Without Brando, the play would still
have a deep meaning, but with Brando’s interpretation, the play
mes even more profound.
61, According to paragraph 1 in the passage the character
of Blanche DuBois
(@) Is intentionally overdramatic and theatrical
(b) Is recently married to Stanley Kowalski
(¢) Is brutally honest and frank during the play
(d) Is firmly rooted is realism and sanity
62. Paragraph 2 in the passage argues that Marlon Brando’s
Portrayal of Stanley Kowalski
() Eamed the actor great fame
(#) Is more anunced than the part that is written
(iif)Is what really made A Streetcar Named Desire a classic

(@) 1only (b) 11 only
(€) Land 11 only (@ 1, 11, and 111
’ :::h Paragarph 1 and paragraph 2 in the passage argue

(@) The New York theatre scene was blown away by A
Streetcar Named Desire

(Paper - li) Soclal Studies / Soclal Science (23)

(b) Tennessee Williams wrote A Streetcar Named Desire
to end melodrama
(¢) A Streetcar Named Desire has more than one true
meaning
(d) A Streetcar Named Desire only has power when
performed on the stage
64. In the passage author focuses on Marlon Brando’s
portrayal of Stanley Kowalski
(@) As being particularly memorable and powerful
(6) Working on high-quality script or unparalleled acting
(c) Being successful with one but not with the other
part of the portrayal
(d) In the light of Tennessee William’s skilled writing
65. Brando’s interpretation of the play makes the play
indelible owing to :
(a) It being a good play
(b) The portrayal of Kowalski’s helplessness coupled
with brutality
() The profoundness inherit in the play
(d) The enactment of the supporting cast.
66. Paragraph 1 of the passage provides each of the following
except
(a) A critical interpretation of A Streetcar Named Desire
(b) An explanation of why modern audiences connect
with A Streetcar Named Desire
(¢) Background information on the times that produced
A Streetcar Named Desire
(d) The author’s main argument concerning A Streetcar
Named Desire
67. It can be inferred from paragraph 1 that A Streetcar
Named Desire
(a) Was Tennessee William’s first play
(b) Is better on stage than in print
() Did not have socialist learnings
(d) Was not melodramatic
Passage 2 : Please read the passage carefully and answer
the questions 68 to 75
Many great inventions are initially greeted with ridicule and
disbelief. The invention of the airplane was no exception.
Although many people who heard about the first powered flight
on December 17, 1903 were excited and impressed, others reacted
with peals of laughter. The idea of flying an aircraft was repulsive
to some people. Such people called Wilbur and Orville Wright,
the inventors of the first flying machine, impulsive fools.
Negative reactions, however, did not stop the Wrights. Impelled
by their desire to succeed, they continued their experiments in
aviation. Oriville and Wilbur Wright had always had a
compelling interest in aeronautics and mechanics. As young
boys they earned money by making and selling kites and
mechanical toys. Later, they designed a newspaper-folding
machine, built a printing press, and operated a bicycle-repair
shop. In 1896, when they read about the death of Otto Lilienthal,
the brothers interest in flight grew into a compulsion,
Lilienthal, a pioneer in hang-gliding, had controlled his gliders
by shifting his body in the desired direction. This idea was
repellent to the Wright brothers, however, and they searched
for more efficient methods to control the balance of airborne
vechicles. In 1900 and 1901, the Wrights tested numerous gliders
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and developed control techniques. The brothers lier:jal:li]litn): :g
obtain enough lift power for the gliders almost

abandon their efforts. h
; thers concluded that the
After further study. the Wright bro surfaces must be

blished tables of air pressure on curved '
fv‘:'or:g. They set up a wind tunnel and began a series of

experiments with model wings. Because of their efforts, the old

tables were repealed in time and replaced by the first reliable

figures for air pressure on cuved surfaces. This work, in turn,

made it possible for the brothers to desigp a machmg that woluld
fly. In 1903 the Wrights built their first airplane, which cost less
than $1.000. They even designed and built their own source of
propulsion-a lightweight gasoline engine. When they started
the engine on December 17, the airplane pulsated wildly before
taking off. The plane managed to stay aloft for 12 seconds,
however, and it flew 120 feet.

By 1905, the Wrights had perfected the first airplane that
could tumn, circle, and remain airborne for half an hour at a time.
Others had flown in balloons and hang gliders, but the Wright
brothers were the first to built a full-size machine that could fly
under its own power. As the contributors of one of the most
outstanding engineering achievements in history, the Wright
brothers are accurately called the fathers of aviation.

68. People thought that the Wright brothers had ..................
(@) Acted without thinking
(b) Been negatively influenced
(¢) Been too cautious (d) Been Mistaken
69. The Wrights interest in flight grew into a.........cceeuun..
(a) Financial empire (b) Plan
{¢) Need to act (d) Foolish thought
Lilienthal’s idea about controlling airborne vehicles was
sessssneesnsaceene the Wrights.
(a) Proven wrong by (b) Opposite to the ideas of
(c) Disliked by (d) Accepted by
71. The old tables were ..........cce.n. and replaced by the first
reliable figures for air pressure on curved surfaces.

(a) Destroyed (6) Invalidated

(c) Multiplied (d) Approved
72. The Wrights designed and built their own source of

(a) Force for moving forward

Eb)) l;_orce for tumning around

¢) iuming (d) Force for going backw
73. The wright brothers were the first to %uilg .

(a) The most outstanding plane

(b) The plane that could not turn and circle

8 :Ir‘hhe tl;lalloons & hang gliders

'he full size machine that could fi i
74. The idea of flying an aircraft was Y by tsel

70

.

people 0 Bandircraftwas....... to some
() Borfr?g (b) Distasteful
© Exciting (d) Needless

75. The negative reaction
Wri s of the experim
rights brothers to continue in .......l.).........em Eepeled

(a) Their invention of machine

(b) To abandon their effort

(c) To stop their desire to succeed
(d) Search more options for flying

r - 11) Social Studies / Social Scie
76.

71.

78.

79.

80.

81.

82.

8S.

86.

87.

- Writing can be best enhanced through :

Which one is not 2 method of teaching spellings ?

- (b) Dictionary
g
When grammar is taught not as a separate subject b,

i ders, it is
along with the graded rea it
(a) Traditional grammar (b) Functional grammar
(c) Comparative grammar
(@) All of the above )
Two and two makes four. This s.entence is:
(a) Imperative (b) Optive
(c) Assertive (d) Exclamatory

Which of the following is not a fundamental principle o

programmed instruction text bo.oks 2 .
(a) Self-pacing (b) Actlve.respondmg
(c) Passive responding (d) Immediate confirmation

Which of the following perspective proposes languag

to be a biological process ? o

(a) Innatist () Beha""{"“

(c) Constructivist (d) Interactive
English is given the status of :

(a) Official language of India

(b) International language of India

(c) Associate official language of India

(d) National Language of India

Theatre activities in language classrooms :
(a) Enhance the confidence of the learners
(b) Improve their dialogue delivery

(¢) Improve class cordinations

(d) Enhance creativity in language use with expression

Asking learners to suggest an alternative title to a story,

would :

(@) Confuse learners about the values of the story

(6) Encourage them to revisit the story mentally and thik
critically about it

(c) Demotivate learners about story telling sessions
(d) Make them doubtful about their own understandin

(@) Drill activities
(b) Memorizing given samples by heart
(c) Reading many samples before writing

(d) Preparing drafts after brainstorming and editing furthe: i

“Icutted the cake into two equal halves, and gived one®;

my younger brother.” The error made by the child ¥}

the above sentence is due to :

(a) Overgeneralization (b) Misinformution
(¢) Transference (d) Omission
Multimedia resources :

(@) Are an excellent replacement for teachers in all class}

(b) Can be used effectively with higher classes only
(¢) Create ambiguity in the minds of learners .
(@) Can be explored as a learning resource if us®

judiciously H

An ‘Essay’ on the topic ‘Pollution’ is an example of :
(a) An Expository text (5) A narrative text

nce (24) ——u

;

(¢) A historical text (@ An Imaginative text
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88. According to Critical Period Hypothesis

91.

92.

93.

%4,

9s.

96.

97.

98.

following factor is linked to the Ianguag'ew :cl;::l::t:::

process :
(a) Biological Age
(¢) Intelligence

(b) Motivation
(d) Aptitude

. The objective of Three Language Formula is to ensure :

(a) The promot.ion of Hindi as the national language
(b) The promotion of multilingualism in the curriculum

Pt. 2016 (Paper - Il) Social Studies / Social Science (25)

(© The promotion of rqéional language at least as a thfrd
language
() .The promotion of English as the connecting language
90. Which is not a compulsory component of Model Reading ?
(a) Correct Pronunciation
(b) Correct Spelling  (c) Intonation
(d). Stress and Pause

_Siction——B Social Science / Social Study (Bilingual Section, Q. No. 91 to 150)

gei—B AHfea fefomis / mnfrar wifoits (gemt smar, yms & : 91 - 150)

Which of the following is correctly matched ?

() KolsRebellion —1831-32

(i) Santhal Rebellion — 1855

(7ii) Bastar Rebellion — 1910

(v) Warli Revolt — 1940

(a) Only (i) (b) (i) & (i)

(©) ()& (i) (d) All of the above

Which poet said that ‘streets of Delhi aren’t mere
streets; they are like albums of a painter.’

(a) Mir Taqi Mir (b) Mirza Galibh

(c) Bahadur Shah Jafar (d) Igbal

Jnanadanandini wife of Satyendranath Tagore, the first
Indian member of ICS is associated with :

(@) Council Entry for women

(b) Brahmika Saree (c) First women to attempt ICS
(d) First Indian woman to write autobiography

In 1661, the control of the islands of Bombay passed
into British hands after the marriage of Britain’s Kings
Charles II to a princess. This princess was of which
nationality ?

(@) Spanish (b) Portuguese

(¢) Dutch (d) German

Who was the first Director-General of Archaeological
Survey of India ? _

(@) Cunningham (b) R.E.M. Wheeler

(c) John Marshall (d) GF. Dales ,
Prayaga Prashsti (also known as the Allhabad Pillar
Inscription) was composed by court poet of which ruler ?
(a) Samudragupta (b) Ashoka

(¢) Harshavardhan (d) Kanishka .
Which of the following facts about Kitab-ul Hind is
incorrect ?

() It was written by Ibn Batuta

(i) It was written in Persian

(#if) It was divided in 80 chapters

() Each chapter began with a question

(@) Only () (b) () & (ii)

() (i) & (iv) (d) All of them

Which of the following is incorrectly matched

() Shaikh Muinuddin Sijzi-Delhi

(if) Shaikh Bakhtiyar Kaki-Delhi )

(117) Shaikh Fariduddin Ganj-i-Shakar-Bhatinda

(i) Shaikh Nizamuddin Auliya-Delhi

(d) Only (p (b) () & (ii)

&) (& (i) (d) None of the above

91. I= fafant RS fagarrA AT 8 ?
() IBIST- 1831-32
(i7) Hes Ired - 1855
(iif) GH3T IET ~ 1910 (iv) TIVBTIT - 1940

(a) A= (ii) (b) (i) 3 (iii)
GIVELQ)] (d) Quiaa Ad
92. faw &<t 3 faor ‘fost It Raat fage, Raat sat Rt fan
fe39ag atamfgst g Is !’
(a) HIT Fa Ml (b) fimmrarfeg
(¢) TW'ETHI AT (d) feaas

93, ASBEATAl, ASPEIST Jdid o yIat, ufawt sast
nivet 5t A, (ICS) &3 fiifag A5
(a) UfoB wigg 7 Qs fEe ot
(b) gafar At
(c) MTEt 5 AR . (ICS) U 96 <78t ufast gvaat niag
(d) FR-i=at fave =@t ufost sast e

94, IIBNA 11 ¥, THGHE! 58 fenT T wmE °& 1661 f@T
fravt @ sl & Tyt e Tewr fgfew Jat (% 9T famm
fer gyt &% fagat sarfaasT At ?

(b) WIS

© 39 (d) T |

98, Fgg & yIra'Te fegrar or ufawET Seldded Aads d A ?
(a) Afcum (b) ™ BN . =T
(¢) A& HIHS (d) AT . 3WH

96. wm.amwamma#mmw@a.
fawavﬁéamadewm:;r?
() AYEITJUS ®
(c) TIN<ITS (d) afzma

97. m—%ﬁvﬁwmﬂmsﬁrm&l
) feq feus agar et fat
(i) feunies (e falt 3
(iif) feg 80 grar fEE FFT T

() J9US yEs SBEg dEr .
(o) fRE= () () ()3 (i)
(©) (ii) 3 () (d) 7 ;
98. I fofipnt (€9 fagd a53 g2 I8
() BufEEEs faw-fegt
(i) Emtge arat-fEEt
(iii) BaTAEES dr-e-dag-uidsT
) nEmr-fEst '
(a) IR () (® (D3 (i)
(©) ()3 (i) (d) feastfed aet &t
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99. Harihara and Bukka are associated with the
establishment of which mighty empire-.

(a) Chalukya Empire ()] Chola Empi_x"‘e

(¢) Vijaynagar Empire (d) Gl{gar-Pmn ara Tl
Why was Francis Buchanan important to kas

Com ? .

(@) }';:I;yﬁigned the Enfield Rifle t

(b) He was the brain behind permanent settlemen +
(¢) He undertook detailed surveys of the area under the

company

All of the above . '
(Fd)onr major wars were fought by the English East India

Company to overpower a state in 1767-69, 1780-84,
1790-92 and 1799. Which of the following was that state ?

100.

101.

{a) Marathas (b) Bengal
(¢) Hyderabad (d) Mysore .

102. Which of the following is not true regarding Great Bath
in Mohenjodaro :

(a) 1t was lined with bricks coated with plaster

(b) It was made watertight with a layer of natural tar

(¢) It was constructed in lower town

(d) Water was probably brought in from a well

Which of the following is not true of Mahajanapadas :

(/) They built huge forts

(7)) They maintained big armies

(iii) They depended on occasional gifts brought by people

(/) The tax was fixed at '; of the produce.

(@) Only (i) (b) Only (i)

(c) Only (iv) (d) (iii) & (iv)

Who were one of the earliest rulers of the subcontinent

to issue gold coins ?

{a@) Mauryas (b) Satavahanas

(¢) Kushanas (@) Guptas

What do you associate the term Dehliwal with ?

(@) Coins in circulations in Delhi under Tomaras and
Chauhans

(6) Courts poets in Delhi in early 12th century

(c) People living in Delhi in the 12th century

(d) None of the above

‘Trabeate’ or ‘Corbelled’ stand for :

(@) Style of architecture in early medieval India

() Cannons used in early medieval India

(c) Military strategy in 8th century

(d) Type of armour

The Chettiars, Oswals,

which of the following :

(a) Samantas

103.

104.

105.

106.

107. Bohras in medieval India were

' (b) Trading communities
(¢) Warriors (@) Landlords

Which of the following is not true
about .
(4) He was bom in Tamil Nady Shankaracharya

(b) He was an advocate of Advaita

| d us as illusi M
B, s aroun on or Maya
oo as the author of the book ‘A History of British

¥ which divided the Indian History into th ;
-H — to three peri
indu, Muslim and British ? periods

(@) Warren Hastings () Elj
(©) James Mili Ed; “Aotsg?t\!v‘son

P - 11) Social Studies /S
he 99, gataarm3 gar &t -

100.

101.

102.

103.

104.

105.

106.

107.

108.

109.

jal Science (26) =————————r_
oc:awevﬁﬁtrfanmm’rwma;
Ll b) S ITH
( i : giva yrEtaar

fersad I H (@) @
o i &t e Tatriit geas [l HIgeyEs Ht 7

NxdtEs getes faares didt

T e s Aa_YE Fi3r
(c)au#émm@zw&aaer

Quiaa Ad
gﬁil’éﬂwémﬁ%g&m#aﬂﬁhnsg—se.1780-84,
1190-9231799fam('3§'t[:uam8ﬁa‘131w
(a) HEST (b) &ars

aard

ﬁw&ammmmfé@ﬁwnh

) fext & geadt IeaB NI AR U T e i am
fegr famrr At

(¢) feT 358 afaet fEg gee are A _

(d) fe® urat arfee yat 3 feprter fapr 333

HTWaUT BEl a3 I85 Aot 5aT 3

0 53 fersfad ge=e)

() Guadtdadue As|

(i) QU IET-aet A3 eI O I 3afenrt 3 fagss
FIEAS|

(v) Uereger y;oan farfaz mt

(a) T2 (i) (b) =B (i)

(c) A= (iv) (@ Ginm3 (i)

Quigtelu @8 Inr aas =8 fagd afimt 3 re T ufostia

e g

(o) HI& Tfipu &

(@?ﬁ%?é‘ﬁaw%é‘m&la@ﬁfé%m@ma#

(0) Bt 1231 e @ Rt @ ot

() 123 Aot (e feFt iR afos =3 &

(a) fegt 99 aet =t

‘TEHET A GSATT’ (‘Trabeate’ or ‘Corbelled”) Foa T 7
(@) B3t Hua &Y% 3793 @ ergasT er gatar
(b)hi%afa?xmfé‘amnﬂwww

(c) 8= AEt &t St g=1Tt

(d) RS € yarg

Hoasls 393 & a-3fenrg, Eres, faar fagr e At 7
(a) 3T G

() §I5+ & fe usprfionrr for gamt st g 3
() Qut 3 feq ifenir it S v pfemir 3

Fofer o753 e fefsam”” yrarer or v g 3, A fr 3998
fefeorn & S ammt—Rrg, ynfey 2 fyfom g dwet Y1
OFIEIMIT (3 festoe g
(©) P Bt (@) @ 2.l




110. Tn 1600, the East India Company acquired a charter

1l.

112.

113.
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A fro
the ruler of England, ganting it the sole right to tra(;:

with the east. Who was the ruler ?

(a) King George \ () Queen Victoria

{¢) Queen Elizabeth1 (d) King Edward III

Rajya Sabha is called the ‘Upper Chamber’. Which of

the following is not true of Rajya Sabha ?

(o) Rajya Sabha perfoqns special functions

(b) Rajya Sabha can reject money bill

(¢) Rajya Sabha cannot reject money bill

(d) Once Lok Sabha passes money bill Rajya Sabha
cannot reject it

In which year South Africa became a democratic country ?
(@) 1990 (%) 1992
© 19% (d) 1995

Who among the following was the President of the
Constituent Assembly, a lawyer and a person known for
his Champaran Satyagraha ?

(a) Mahatma Gandhi (b) Dr. B.R. Ambedkar

(c) Dr. Rajendra Prasad (d) Jawaharlal Nehru

114. Which of the following is not true about local media ?

115.

116,

117,

118,

119,

129, (

(a) Local media covers mostly national issue in local
language

(b) Local groups start their own media

(c) Poor being given video cameras to films on their own
lives

(d) Newspapers called Khabar Lahriya run by only 8 dalit
women

What is the composition of Parliament ?

(a) Lok Sabha and Rajya Sabha

(b) President, Lok Sabha and Rajya Sabha

(¢) Chief Justice, President, Lok Sabha and Rajya Sabha

(d) Vice President, Lok Sabha and Rajya Sabha

Which provision was passed without any debate in

constituent assembly ?

(a) Fundamental Rights (b) Universal Adult Franchise

(c) Parliamentary Form of Government

(d) Directive Principles of State Policy .

Kesavananda Bharti Vs. State of Kerala case is famous

for :

(a) Panchayati Raj Institution

(5) Basic Structure Doctrine

(¢) Judicial Activisim (4) Land Reforms

Which provision of PRI made it more inclusive in terms

of Social Justice ?

(@) Finance Commission(b) State Election Commissioner

() Reservation for SC/ST/Women

(@) Gram Sabha

All disputes regarding federal matters come under

which kind of jurisdiction of Supreme Court of India ?

(@) Original Jurisdiction (5) Writ Jurisdiction

() Appellate Jurisdiction

d) Advisory Jurisdiction

Parliamentary form of government means

(9) Legislature and executive are separate

(8) Legislature and executive are interdependent

(€) President is political head of the state

(@) Legislature does not control executive
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5 1660 fe's dine Rt dust § Redw & T a8 e

e fufenr fane yafear Qo yse nt e smyse 393

TUT 99 AE@ 7 | @R IR evstat At ?

(@) MTETATHV (b) Moot feaednr

(c) ST RBARE ] (d) AHTTe W =es [

IH AET § ‘QuamT res’ €t faar ater ¥ | v Re et faaar

Ju Rt &Y ?

(o) T AT feim S aoet

(B)TH AT I3 faw § Fe qa Aaet 3

(c) TH I 23 faw § d@ 50T 9 Faet

(d) 19T Ba AeT feq T3 fIF fas U qg AT StTTH AT
@n & 3 53 FT RaEt)

faw 7 (& et iedilar 00 Baatsfaa 8w wfewr ?

(a) 1990 (b) 1992

(c) 1994 (d) 1995

I3 fafit stet fRF faaar st ifeas Aar et @ t, fear

T4l 3 QT duae nfawmalfa aea &t afenr ater ¥

(@) Ha™3H™ arit (b) 3.4t g wETAT

(c)Fm.TdfHedyre  (d) A<99 &5 &g

33 fafimt qust (RE faoa Resa Wighy set rat aat Y ?

(a) FEST HFPHT nHIa I REvsa IR f&a dt em & Hfemt
& omerd

(b) FEad feds 9% & mrueT s gg o9 fed a5

(c) ItEt & mryt faesit @t fesut »ry g5 g BEt
TG I T a5

(d) myEd fam & yaad sfadtur fagr Ater I €0 froe 8
B3 niaat enar axfenr 7 faar &

fRe @t Jua fad detd ?

(a) BIAIT 3 THAI™

(b) THEIUST, B AFT I ITHAST

(c) WY fanmadin, aeaudt, Ba Ag I THAHI™

(d) Quameau3t, Ba AT I THATT

ffeas (&9 fagar yeus faar fan afow & um I Aler At ?

(a) Nf&a nifaag ‘

(b) Aot st Ut ¥ erufaad

(c) A9 T AREIgY (d) oW € 813t faaen frata

FETdT 399t 3 AIG IW T HHSTYRT Y ?

(a) UaTfedt o ArET et

Y GEEAS EXREILES :

(c) eSSt AggH! BEY (d) TS FTT BE

Jarfest aw fwer o @7 faaar faom 3 & @r § mifaar

feare @ AW sw et agféerd ?

(o) R DiEE (b) Y3 TET S

(c) WEHTag At/ mEHfea AarTat/Miaat Bet famelns

AsT

ﬁwmmmwmmmam

g9 migae fRew@e os

(o) yrafa &3Tnifaara (b) fae (rrem) At 43 mifaars

(¢) "t € FITHfaaTa (d) AETaTt 439 Mivarg

it gu fe9 R Asae F e 3 fa

(o) foU% ¥3% 3 Tavardl 188 &3 Fudt a5

(b) feus 'E® 3 ararardl 185 ¥R fea ga 3 fogea s

(c) et aw e et g 33T der d

(d) feus W&, aawaTdt HEs & mirud withs 54T 3y Faret
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Why human beings consider themselves si:perior to
other animals ?

(a) Reason (b) Community
(c) Ability to communicate
(d) Food

“Girls are good at painting and boys are good at sports”.
The above statement is an example of which of the
following ?

(@) Prejudice (b) Diversity

(c) Gender ability (d) Stereotype

Secularism refers to the separation of religion from the

state. Which of the following would violate India policy

of secularism ?

(@) State distancing from religion

(b) State intervening in religion based ‘personal law’

(¢) State giving financial aid to religious community to
set their school

(d) Celebration of religious festival in government school.

Which of the following was issued by General Parvez

Musharrafin 2002 at amend the Constitution of Pakistan ?

(a) Legal framework order

(b) Constitutional amendment order

(¢) Law changing order

(d) Constitutional framework order

Which of the following is not correct about democracy ?

(@) Ruling party should have fair chance of losing

(b) Holding elections of any kind is sufficient

(¢) No country in the world is an ideal democracy

(d) Representative democracy is the most common
democracy form

Identify the states touching tropic of cancer
(a) Gujrat, Orrisa and West Bengal
(b) Gujrat, Uttar Pradesh and West Bengal
(c) Madhya Pradesh, Jharkhand and Tripura
(d) Orrisa, Jharkhand and Tripura
The world’s fastest land mammal, the cheetah (Acinonyx
jubantus), is a unique and specialised member of the cat
family. Prior to the 20th century, cheetahs were widely
distributed throuhout Africa and Asia. The species was
declared extinct in India long back in 1952. Asian cheetah
is nearly extinct mainly due to

(a) Global warming - (&) Pollution

(c) Migration

(d) Decline of available habitat and prey

Consider the following statement and select the most

appripriate answer.

() India is the largest producer as well as the consumer
of pulses in the world. These are the major source of
protein in a vegetarian diet

(i7) These pulses are grown in the kharif season only

(#if) Pulses are mostly grown in rotation with other crops.

(i) Pulses need more moisture and cannot survive in dry
conditions.

(+) Major pulse producing states in India are Madhya
Pradesh, Uttar Pradesh, Rajasthan, Maharashtra and
Karnataka.

(a) (1), (i) and (Jii) are true

(b) (0, (iif) and (v) are true

(c) Only (V) is true (d) All are true
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wa‘&mﬁ%wuiwfyﬁawmm#m?gmww
s ?

(@) I () e feg afder @

() AmaI A (d) 995 )
“WW%WWW?%WE& fiy
s 3t (it e fam v et @ergae 3 7

(@) WUz (b) fefgaaT
W(C)mmmwwf%?&famwwm&,
& foF st (<7 faaar 793 ot gaHfsautsT &t skt
@lwergaerd ?

(@) TATMN T I I

(b) T TaH &g I 9 AGe (personal laws) ffoom
5=

(c) T wirafaa gu g Hee €2 It fa T S U9 Iny
wmae -

(d) Faadt gt fEg urahie fa@ua vare Are

Yo nremt (2T TS N AT6H YIS HETT & 2002

f wfamaTs & fifeas § e set At atar ?

() BaTE 3H<aa WaSd (b) AfeTTTad Aue e

© TEETRBEEHEH  (d) Aferfsa g mmen

Io fafug o9 faga aus B339 B Aat &4t S 7

(a) I GIIT UGS & A T95 ©F ydt AigTeaT I Aael

() faR S 33 5% I TrRAET &

(c) AAvg & &t <1 8w fea miveon Ba339 5dT 3

(d) Ba339 o AT T folq vind gy ySfatt Badge

ey asa I §gae s Qust§ge

(a) IHITI, €A 3 Ut fars

(b) IFII, €39 yEu 3 UaHt fars

() T y&m, 37943 3 fguar

() 9, 7947 3 fguar

gaht @7 Ae 3 3w Wils I T3 T AIsUSt O

(Acinonyx-Jubantus), Rg 3 gt 3 yity, fdstt et arst

@ fdR 31 20T et 3 ufast, diar 29 hrd 3 nedtar 3

eHtr (G firser vt | few st § s fo's wgo s ufowt

1952 f&9 ¥3W 3= St aore I wifas atgrfomwr Ifenaee 3

et EigTyeH S dtaEra 3D
(a) &M Iun () yowe
() PGS (d) MRS 3 WS Tz

9% fott aast I forres fe€ 3 Ae F R Q@95 21

() Y Eafeg gag ot or agg JrQsuea I
3 feg mrararat Ia fE9 s er iy A3 05

(i) feg et ydie iy &g Gaetras

(iii) T frar3a gritn erst wvs @vdimit g Qaret’
"Mt Is |

(v) o5& it ordet 3153 v e fea Qarent 5!
H™ Aaetrt

() 93 g ySw, €39 yon, IARES, HItTHed 3
FIsea TueBQarfe B Yz as

@) (), (i F (i) AT IS (b) (), (ii)) T (v) AN I&

(c) a=S () RIt IS (d) RERAT TS
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. wat
19 stress occurs when water availability is less than er

| (@ 590 cubic metre perpersonper day

f (b) 1,000 cubic metre per personper day

f © 1,500 cubic metre per personper day

| ) 2,000 cubic me.tn'. per personper day

130, Consider t::af:ls‘v?re‘:l?g two statements and select the most
a .
India have fairly rich and varied mineral resources.
(i) India have duffergnces m_the geological structure,
and time involved in the f_onnation of minerals,
(c) Both (i) and (.u) are true and (i).is the reason for (ji)
@ Both (i) and (i7) are true and (i) is not the reason for @i
Q (s tme md (1) s B

Both (7

;;?,om system, Inner planets are very close to the sun

and they are made up of rocks. Which planet among the

following is Inner planet .

(a) Mars 8; {}lplter

¢) Satumn ranus
132. ;n) the solar system, apart from the star, planets and
satellites, there are numerous tiny bodies which also
move around the sun. These bodies are called asteroids.
They are found
(a)e)l;enveen the orbits of Earth and Mars
(b) Between the orbits of Venus and Earth
(c) Between the orbits of Jupiter and Saturn
(d) Between the orbits of Mars and Jupiter
133. Identify the first stage followed in a field survey
(a) Objectives (b) Defining the Problem
(c) Scope (d) Tools and Techniques
134, Identify the-wrong statement about the Prime Meridian.
() It passes through the place, where the British Royal
Observatory islocated
(b) It divides the. earth into two equal halves, the
northern hemisphere and the southern hemisphere
(¢) Its value is 0° longitude
(d) From it we count 180° eastward as well as 180°
westward.

135. “The growth of natural vegetation is very limited here.
Only mosses, lichens and very small shrubs are found
here. This vegetation is found in the polar areas of
Europe, Asia and North America. The animals have thick
fur and thick skin to protect themselves from the cold
climatic conditions.”

The above mentioned vegetation is

() Desertic Vegetation (b) Tropical evergreen forest
(c) Temperate grasslands

() Tundra vegetation

- Which one of the following describes a system of

multure where fruits, vegetables and flowers were
n:
(a) Shlf’{ingAgriculture (b) Plantation Agriculture
1, g:)ll'lomculturc (d) Intensive Agriculture
( ndia, the rate of increase is the highest in case of
9) Area under non-agricultural uses
© :’“ under barren and wasteland
fea under culturable wasteland
fea under pastures and tree crops

131

136
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129, Felfaw wige esas waw migRwg uret et 3t <t S
Ut &t uETET W ot 3 QR nigR urel BT TEnH JeaS
e »rQer ¥ 7o uet ot QusEnaTuiz b
(a) 500 wx vieq fda mranit il fos
(4) 1,000 ws Wied fea wravit fea fes
(c) 1,500 u Hiea fda nraft e fews
(d) 2,000 W& Mz foa wranit fog fos
130. 35 fott & uat § fonrs fee I 3 Feg RAQIa e :
() I3 FW-FW yfeaer A migrazd
(if) 3733 fRG ufewt & foanre f¥g Agr-Jugr it I33fea
grar w3 fafenr arfus 3 :
(@) () 3 (i) T& AR 3 (i), (i) T AT Y
(d) (i) 3 (i) & Wt F (), (if) T Ao &It
© (YARAI)IBIT  (d) T3 ()2 (i) IBI
131. A3 e® G niead oifa gow € W swela §@ 95 § dost
& 9@ 7% 1351 @9 are Y fagar affo awetat 31
(a) 'S %) EIfUWET
(c) A&t (d) GIBA

'132. Ralew fg 39, affe 3 Querfo it o= 1 sy 1 82 fus

(tiny bodies) ¥ gaw o8 UHe 5 Ifeast 82 flst § oy
91fe faar ater ¥ | feg e 331
(a) 33T T get 3 Yars fegaa
(b) gaT ©F et 3 uat fegara
(c) gforuat €t gat 3 mat fegag
(d) YO &t ot 3 gfamuat fesars
133. fadtue & B39 few fagat mew ufast 31
(a) e/ (b) mifmr<t e ferdne
(c) A= (d) AR 33T
134. WS JuT (Prime Meridian) € 93 fa03 J9 Wt 5919
(o) foT €W gt 3 Swet I AT vt fgfen wedas v
Afag ¥

(b) feT Tast & © worae fofmt f&fe <=t 3 '3t damau
I TS IImIU
() femer v Bafteme 3 0°F
(d) ferer femaw 180° yea B F 180°HA U =s I
135. gEISt TSRSt ot Uoverg fef ug3 Aifua | frae aet,
qET MT TgT Tt TEwt It st 95| feg BT
TERUST G3Y & agehr fewd 8w, €99t nordfter fee
I5 | raEat et it anat 3 &9 Qust § &% i 3 vt
3135 fefemt 2 faost waRust 39—
(o) omarataRaUSt  (b) Qe afetUt FETET HATE
() AT WTTRTE (d) S5 TR
136. 35 fofit f faaa fex A3terat yia f¥G o mavint 3

gt @ Qor@= v fergw féer 31
(o) FETSIITE BT (b) M=
(c) T (d) FurT ¥t

137. 33 &g &0 €T (rate of increase) A¥ I fiparer et ¥

A
(o) fema 7 At & femdws e &t

() fewrar 7 &9 3 WAt 3
(o) fewrar &t ¥twh ST wg 0 3
(d) SIet 3 gyt & QarGe e femrar
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138. Which one of the following is not an advantage of Raster
t?

z:)ul:?;;:paﬁal variability is efﬁci_ently represented

(b) Same grid cells for several at.tl’lbl‘!t“

(c) Compatible with remote sensing imagery

data structure

g)ufuo::epxnning is a complex process which involve; :

() Identification and inventory of resources across the
regions of the country. This involves suryeylflg,
mapping and qualitative and quantitative estimation
and measurement of the resources. .

(i) Evolving a planning structure epdgwed with
appropriate technology, skill and institutional set up
for implementing resource development plans

(éif) Matching the resource development plans with overall
national development plans.

(@) Only () (b) Only (?) and (i)

(c) Only (i) and (iii) (d) All of these

Identify the wrong statement about tea.

(a) Its leaves have rich content of caffeine and tannin

(&) It is an indigenous crop of hills in northern China

(¢) Itis grown over undulating topography of hilly areas

(@) InIndia, tea plantation started in 1842 in Brahmputra
valley of Assam.

Which of the following recommendations was given by

the report ‘Learning Without Burden’ ?

(@) Leamn without burden of analysing

(b) Analyse socio political realities instead of retention

(c) Focus on retention instead of comprehension

(d) Leam information without burden of thinking of future
oriented goals

Identify the following evaluation which helps students to

known about their progress in the path of learning and

also to plan for mid course corrections ?

(@) Formative evaluation

(b) Summative evaluation

(¢) Norm referenced evaluation

(@) Final evaluation

The awakening of social science has not been easy

process. According to Wagner which of the following

major issues was not confronted by social sci 2
g y iences ?

. (b) Usefulness
() Carrier oriented (d) Structure

In which of the following methods, rules and principles
are.provided to the students and then they are asked to
verify them with examples ?
(a) Inductive method
(¢) Observation method
(d) Comparative method
Who coined the term ‘sociology® 7

(@) Auguste Comte (6) Emile Durkheim
(©) Karl Popper (@) David Easton

139.

140.

141,

142.

143.

144,

(b) Deductive method

148,
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Science (30) =g
‘mhm”wmm

3 " foyQer
(o e rEsa faes G IHTED -
el st s faF
(c)gam%ﬁ.ii e
lge e
() S-St R st Ve dae 3
wﬁﬁsameaéﬁméwn@ma
MEHTS BATGET I HUET
Fus I faret @ Graey €9 § fanma aaar
(iii) fmrus feam GrsTetmI OF et feam Gearer iy
fig gsgeT

(@) () A=H () (i)\ﬁ?ﬁ"ﬂ? (i1
) (ha=TB M3 (i)  (d) Ad
I & w3 faoaT q65 THS I—

(a) feT ¥t 316 3 68 s B FUTI&

(b) feT G5t St Tt uor=ort R eI HB THB

(¢) uTr= ¥=et I Qum-yram wils I Qo §

(d) 9793 {39 1842 &g »mmy & goUST Wt fRg T
QarQ=T 5y Jet

fea? &5 @ fiftorr falilge @ mgwra It fafimt 2T faodt

frefam atataradt &

(o) fen@nz faet famft fimr o gg 3

(b) TSI € TR AR I TS faa reTEit & ugue

(c)ﬁgmra’ra'*éuwsa’efagm
(d)aﬁ%é@éwfaa*ﬁaéﬁéﬁmmm

35 (fiout 9 o ystare fefonirast ot frsset ot 34t

3 WO &30 gue &t GweT § wam QR o ? _

(a) TMfeT yBtae (b) RifeT yoiae

QU R YETE (4) wifanystas

EII niEHTE R fefamires et ST avt naw yfafa

519159 @ niawra Is Fshmt R faaar Jeor mofia

fefori & fedu =4t ager ?

(a) Safaaar (b) QuGfarar

(c) Fifear &'efea (carrier oriented)

(@) &ter

35 et (R faawt fedt, 3w 3 vt fefommaainnt §
T2 3R QT Qerage gz niru ny § ity &g R 7

(a) WIME et (b) fsani=s fedt

(c) fadtu= feut (d) FEana fedt
‘m’ﬂmw?mfaﬂ%m?
(a) a3 s () e gy
(c) TTB YT

(d) 3few dtves
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[t has been observed that cultural, social ang class
differences generate biases, prejudices am ong the
students of social science in classroom context, Which
of the following teaching approach should be taken In
this situation ?
(@) Teaching needs to be open ended
(b) Teacher should avoid discussing about any diversity
(¢) Teacher should take a separate session of students
belonging to backward class
(d) Teacher should instruct for not raising any discussion
on caste or religion

According to Gulbenkian Commission report in 1850-
1914, which of the following was not considered as the
discipline of social science 2

(a) Anthropolgy (b) Sociology

© Psychology (d) Economics

Which of the following is known as century of social
science

(a) 18* century (b) 19* century

(¢) 20° century (d) 21 century

There is a widespread belief that social science merely
transmits information which is centred on the text and
is unconnected to daily realities. Which of the following
teaching technique will help in breaking this perception ?
(a) Story telling technique

(b) Community resource technique

() Textbook technique (&) Question answer technique
Which of the following is considered important by
National Curriculum Framework, 2005 for developing

147.

148.

149.

150.

(¢) Us YAIT JaaT

6 (Paper - Il) Social Studies / Social Science (31) :
146.

RHTRE fomis &t g & frogs i Mt e of i A,
it 3 =aer e 3% wfew (biases) a9er 31 I fefint
RS few rfast feg fagst (wifowma ) fedt ug @ &t Jet
gratet ¥ ?

(a) Mty Y8us T T agter

(b) Mfanrum § fesar &t gger 3 wuergdter d
(C)Wugﬁﬁmﬁwéhﬁmwﬁééuww@?

(@) iy § fait A Sgr @ g I ron A afam § Ter
&JT = d=T grater

JBrERaE it falae 1850-1914 & mign'a 35 fafumt

R fan § mifaa fefomirs st ifemr arer ardter

(a) &< ATA3T (b) M AAIT

(c) Wafefamis (d) "9 IS

3= fafiont (T fan & mnfaa feferns &t pet fagrater 3 ?
(a) 18T ST (b) 19 AT

(c) 20 mit (d) 21T RSt

Mfaa feforirs @ feir fréiat fea ifaw ater 3 fer gnrar
25t aret srearat er AdT A'F 3AeT Aies It Aarehyt
&% &dt 3135 fe3 are mferus 391 at fer fegeaar §
F=5 f&g rorfea fi 32391 ?

(o) T F&EE & 3TBT

(b) Ayerfed ArUE IS

(d) Yyrs-§'39 338

fi Tt ANT 550 HE 305S TJIgHH TIHTIT 2005 T
I et (T faw & wa'geyas Afemr farr 31

one’s understanding ? (a) 3B TS YRS T A0S &
(a) Textbook as only source B)US R

(b) Textbook as one of the source W-quga Sy

(c) Class without textbook © 4 I.,E I 53

(@ Textbook as optional (d) U's YRS feeTEnT

~ANSWERS / 8 3au'a3" I

L@@ 2.(a) 3.(@) 4.(d) 5.(c) 6.(a) 7.(b) 8.(c) 9.(@ 10.(a)
11.(a) 12.(b) 13.(d) 14.(b) 15.(@ | 160 17.(c) 18.(0) 19.(c) 20.(c)
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13 12.(d A2340) 121 36.(c) 137.(a) 138.(d) 139.(d) 140.(d)
Bl e e 1340 1@ 16C ' Yool
“L(b) 145.(0) 146. (a) 147. (C) 148. (C) '( ) . )
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